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ost commeon final grade was a B.
s got A as a final grade.
dents got D as a final grade.
‘most common final grade was a B,
5 of the class got D as a final grade.
students got C as a final grade than A.
bar graph shows the number of students who got each
grade. The circle graph shows the proportion, not the
number, of students who received each grade. So, the bar
‘graph best shows the number of students who got B as a
final grade.
d) Mr. Sidley should show the bar graphs. He has 7 students
~ who got an A and 10 students who got a B, while
* Ms. Taylor has 6 students who got an A and 8 students
who got a B. They each have 3 students who got a D.
e) Responses may vary. The question is debatable, partly
because the class sizes are different. For example:
Most students in Mr. Sidley’s class gota B or a C,
and most students in Ms. Taylor’s class got an A or a B,
so Ms. Taylor's class did better.
6. a) Each graph shows the Olympic winning times for men
and waman in tha AN0-m hurdles

b) The double line graph shows the trends from year to year
for men and women; since the vertical axis displays data
above 42 s only, it is easier fo spread out the data for men
and women to examine how the trends are different.

The bar lengths in the double bar graph are helpful when
you want to compare men and women's times.

c) The double line graph is more difficult to use to compare
men and women’s times. The double bar graph is more
difficult to use fo get an accurate estimate of the winning
times since the scale increases by 5 along the vertical axis.

d) i) The double line graph, because the lines between the

points on the graphs show the trends over time
ii) The double bar graph, because the difference between
times is the difference in the heights of adjocent bars

" a) T-shirt sales over a year involve data mar cnange wre:
~ fime, and you may want to know the trend over the year.

b) Hockey players' playoff points involve discrete data, and
i you may want fo compare the number of points each
player has.
¢) District fest scores on a standardized test compared
fo provincial averages. This topic involves discrete data,
and you may want fo compare how well each district

performed.

d) Number of different types of books students have read.
This involves discrete data, and a symbol like o book
would instantly make the topic of the graph clear.

e) Percent of waste generated by each wing of a school. This
involves data where a percent of a whole is important, and
't."“f ‘waorm. so the graph will not be too complex.

8. a) The data in Table B: Yearly Sales. The data change over
time, and Nina probably wants to see the trend in sales,

b) Answers may vary. For example: A circle graph. The data
are discrete, and Nina could see what percent of people
buy each size of shoe. So, for the next month, even if she
expects the tofal sales will be different, she sfill knows
what proportion of each shoe size to have in stock.

9. a) The line graph clearly shows the trends in attendance over
time. The bar graph lets you easily compare attendance in
different years.

b) The line graph does not let you easily compare the number
of people in attendance in two different years. The bar
graph doesn’t show the trends in attendance as clearly as
the line graph.

¢} The line graph is the better choice if you want to show the
trend over time. The bar graph is the better choice if you
want fo compare the attendance in different years.
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Place Mumber of Peaople
school <700 Number of People
Work 4100
Club or Organization 1400
Organization 700
Home/neighborhood 4300
Through family 1200
Through friends 1100
Other 600
Number of People
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M School

o Work
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® Through family

W Through friends

W Other
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Average Hours of Televisidn gr 8 u7 dm graphs with excel.xlsx
Province Number of Hours %

'Newfoundland,"Labrador 12.3

Prince Edward Island 12.3

MNova Scotia 13.&

MNew Brunswick 12.€

Quebec 13.2

Average Hours of Television Number
of Hours

B Newfoundland/Labrador
M Prince Edward Island

H Nova Scotia

B New Brunswick

B Quebec

Average Hours of Television Number

of Hours

14
135

13

125

DR I

115 - m Average Hours of

Television Mumber of
Hours
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Misrepresenting Data

Graph B
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What does each graph represent?

The average price of a house in Victoria and Fraser Valley each year
from 2002 - 205

At first glance which graph appears to show the greater difference in house
prices? Why?

The graph on the left. There is a greater difference in height for each pair of
bars in this graph.

Do the graphs display the same data?

Yes, when you read the price using the scale on each graph, you get the
same price.

What is the scgle of each raph?

G‘.ap rLoth‘Bo 000 90 WP h;) 20 0d0
G_rqpl) ”?)*) Start 2t~ Q 36 yP ‘Oj 60 o\

Does the scale on each graph start at zero?

Is the graph on the left incorrect? Do you think someone who uses this graph
to show the difference in houses prices is lying?

No. Both graphs represent the data. However, the graph on the left
emphasizes the difference in the average price of a house in Victoria and a
house in Fraser Valley.
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There are many ways in which graphs can be drawn to
misrepresent data. Graphs like these may be found in
the media to create false impressions.

How could a circle graph be misleading? How could a pictograph be misleading”

- Sectors may be treated differently to - Different sized symbols

draw attention to it .
- No Key givven

How could a bar graph be misleading? How could a line graph be misleading?

-Distance between points may not be

- Different widths of bars ) .

. proportional to the length of time
- No Scale given between the recorded times.
- Scale may be too large or too small - No Scale given

- Scale may be too large or too small
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In this pictograph, the symbols have different sizes.

The three large ice-cream cone symbols give the impression
that bubble gum is the favorite flavour.

When the key is used, chocolate is the favourite flavour.

Our Favourite lce Cream Flavours
Boen | H OO LH M

Vanilla 6

s gl A @—.35;;@

Grade 8 Students
Who Scored Higher than 80%
on a Math Test

In this bar graph, the wider bar creates the impression

that many more boys than girls scored higher than 80%. ;:
In fact, the number of girls who scored higher than 80% 3
is greater than the number of boys. ' g 4

Girls Bays

In the bar graph below left, the scale on the vertical axis is 1 square r epresents 3
students. The difference among the heights of the bars are easily seen.

In the graph below right, the scale on the vertical axis is 1 square represents 10
students. This change in scale makes the difference among the heights of the
bars less evident.

Our Favourite Music
........ - Our Favourite Music

B I r 50
*f_ T g 40
"6 = | L g a0
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£ 20 = M
| Fop fiock HpHpe 5T ®Pop Rock Fip Hbp
Type of Music | " Type of Music |
A part of a graph may be treated Pavourlts Drinks for Lunch

differently to draw attention to it.

A milk company uses this circle graph

to draw attention to the milk sector. Water
The sector for milk is not as large as

the sector for water, but the special

treatment makes it seem larger.
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From this line graph, Shiva made the conclusion that Salaries Up!
salaries have almost tripled in 6 years.

' 185800
| 1 35 600
a) Shiva's conclusion is not consistent with the data. | s

Explain her misinterpretation. RANGE’?’?’? ’5(% O°° a
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- g 84 800 |

b) What changes should be made to the graph to 8l i
accurately show how salaries have changed in 34400
6 years? 4

Scale on vertical axis should start at 0. _ i '
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http://www.shodor.org/interactivate1.0/elementary/discussions/

ElemGraphsdiscussion.html
3
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Sheet1

		Place 		Number of People

		School		5700

		Work		4100

		Club or Organization		1400

		Organization		700

		Home/neighborhood		4300

		Through family		1200

		Through friends		1100

		Other		600



Number of People	School	Work	Club or Organization	Organization	Home/neighborhood	Through family	Through friends	Other	5700	4100	1400	700	4300	1200	1100	600	Number of People	School	Work	Club or Organization	Organization	Home/neighborhood	Through family	Through friends	Other	5700	4100	1400	700	4300	1200	1100	600	

Sheet2

		Average Hours of Television

		Province 		Number of Hours

		Newfoundland/Labrador		12.3

		Prince Edward Island		12.3

		Nova Scotia		13.8

		New Brunswick		12.6

		Quebec		13.5



Average Hours of Television Number of Hours	Newfoundland/Labrador	Prince Edward Island	Nova Scotia	New Brunswick	Quebec	12.3	12.3	13.8	12.6	13.5	Average Hours of Television Number of Hours	Newfoundland/Labrador	Prince Edward Island	Nova Scotia	New Brunswick	Quebec	12.3	12.3	13.8	12.6	13.5	
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Sheet1

		Place		Number of people

		School		5700

		Work		4100

		Club or Organization		1400

		Organizations		700

		Home/neighborhood		4300

		Through family		1200

		Through friends		1100

		Other		600
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